TSR (REAREFHER)

P TR At

88 g . TLT7IU-PIESHEK
= &= : 200mL
B OB RKUZFLUENYY
RERRE =%
S ERHART 3&
REEHE =8
& wo
AT R TORBEEB IZE W THEICES L TE Y, FRCHES 2 S TRAELARWIRY | 3EMOWE %
REECE DD EEZ D,
& g
3|y kT
ARERTHH BR A RE 14 2 4F 34
v 4% ) 40 PB B DR 40 PB B DR 40 J5 B DR 40 J5 B DR
%K BFETELL 2.5 — — 2.5%
SRR VY A — — WAt
pH 7.0 7.0 7.1 7.1
% HER ke — — WA
e
S
A == ke — — A
R Sk — — A
RIEVERY) Gk — — WAt
S . *
7R 10 pm 2L E FREEN — — FREEN
P
1
% 25 um B4k PR P — — BRIEEN ™
BERE (ml) 213 — — 2117%*
TR R R N — — I PN *

1/2



BRAS TR R
AR IE H B 4fiRF 1 4E 2 4E 3 4F
VA= T eI 100.0 100. 3 100.9 101.6
Lo A 100.0 100. 4 101.0 101.5
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